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a n''vw of others, there will be a contradiction from »''9 to »''9

Overview

The X n3 cited a &n>72 regarding one who was w7pn with a 2uw, wherein there is a
three way dispute between 1n"9 (who says nwTIpn 7°X), X" (who maintains that she
i1s nwTPn), and the 1127 (who state if the paper is a "W, she is nwTIPn). The R
stated that we cannot be discussing a 2>nX7 n"vw (where others owed him money
w2, and he gave this 70w to the woman as 1P¥17°p), because there would be a
contradiction from »"9 here who says nwTIPn 71K to 7"7 in a previous XN*72 who
says that by n"vwa *% *wipna, she is nwTpn. Our NHOIN explains why we cannot
resolve this contradiction in a straightforward manner.

nvoINn asks:
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And if you will say; what is the contradiction? Let the X7 answer that the
previous X012 (where 1" says nwWTPn) is in a case where he said to her (or wrote!

in the accompanying ) 797125 991 % 5P (which is a requirement according to 5"7)

and therefore she is nwTpP» -
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And here we are discussing a case where he did not say (or write) "2 7% 772 °1p,
therefore n" maintains NwWTP» 71°X. There is no contradiction!

NID0IN answers:
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And one can say; that the X723 assumed this to be an awkward explanation, for
since the language is the same it is difficult to say that they are not discussing
one and the same situation.

Summary
We should not make distinctions in cases, where the syntax is similar.

Thinking it over
In '01n question how would we explain the 1327 who maintain nwTp» 78?3

I See X"wmn.

2 In both mn™"1 it states that the wTpn said; (21) w32 *2 *wpna. It is not likely that one is where he said 1317 *p and
the other where he did not say it, but rather both n1n»"2 are discussing the same case.

3 See nwn noma.
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